Warm Up October 22,2018
1.) Find the missing coordinate(s): (1, 1) and (4

ifd=5. d="\ (Xa-x,)&+qa—y,)a w

\gj_v_(LF—l)a-l-C —a{)a-\m | \{-'l)

q-’-( _j)a =\-| -Wd=\-

R ‘Wwiné‘ LR TG
n 5= 0=

Ux=m><+bY -3 113

2.@1‘1‘[:& the equation of a @perpendicular to_T——
y =kEk+3 and passes through the point (2, -1). 3:'7

m=-1 1*\1,=m(><—-x,‘
_h _ '
=1 HI= 1)

3.) If S is the midpoint of line segment RT and
RS = 8x+30 and ST = 10x+16, find the following
values:
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Whv Do Airlines Think They Show the Best Movies?

Under each figure, circle the number-letter pair next to each word that correctly names
the figure. Write the letter in the matching numbered box at the bottom of the page.
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H (-5,0), E(-3,2), A(3,2), T (5,0)
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Quadrilateral HEAT is an isosceles trapezoid

because sides HE and AT are congruent and
sides EA and HTare parallel.



